0000 0210 (20030 60)

AB=ACOOO0OODOOODOO ABCOOOOTI, 0BCOOODOOOOOOOOUJ
0000WJ00000000000 AB(OOODOD AC)DOO0DOOOOO0OO

0o
BCODOOO MOOOOOAB=ACOOOD AMO /BACOODOODOOOO0O
00I1000J000000 AMOOO0O0 A
BIO /ABMOOOOOOOOODO
Al AB
T B :
BJO /ABMOOOOOOOOODOOOO
AJ  AB B C
JM ~ BM
2000
AI-AJ  AB? J

IM-JM _ BM2
/IBJ=/ICJ=90°00040 B, C, 1, JO0D00D0O0DDOODOOO0OODOOOO

IM-JM = BM-CM = BM?

oooooo
AI-AJ = AB? s AB:AI=AJ:AB

O00OAABIO AAJBOOOOOO
/ABI = Z/AJB

O0000D0201,J0000BO0O0O0OOO ABOOOODOODODODOO
ZIBJ = 90°

O00000D JooOooooog (ooo)

— 11— ©OoOOooooooooo



